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).5) صفحات و عدد الأسئلة (4) عدد صفحات ھذا الامتحان (3(

Farmers use most of the new land to grow Soya beans, which they export to other parts of
the world to be used as animal food. Millions of chickens in western European countries
are fed on South American Soya beans. Increasingly, some Soya beans are also being
turned into food for human consumption; many vegetarian foods are based on Soya
beans. Other areas of the rainforest are cleared by ranchers who use the land for their
cattle, by loggers who sell the valuable tropical hardwood from the trees they cut down, or
by oil companies who are trying to find more oil. These activities help to improve the
economy of the region, but at the expense of the future of the global environment.

In addition to destroying ancient forests and changing the world’s climate, deforestation is
having a devastating effect on native populations who are dependent in the rainforest for
everything they need, from food and tools to medicines and shelter.

A:
1. Mention how does the rainforest control the world’s climate?
2. Deforestation is having a devastating effect on native populations. Write down two
effects
3. Quote the sentence which indicates that” human activities affect the the global
environment."
4. Find a word in the second paragraph that means” affecting the whole world"
5. What does the underlined word in the third paragraph” they” refer to?
6. What does the underlined word in the third paragraph” itself” refer to?
7. replace the underlined preposition 'in' with the suitable one.
8. Write the underlined number 180 correctly.

DATE:  25 th of June  2016    TIME: 1 HOUR AND A HALF
(2) للمتقدمین لجمیع الفروع الأكادیمیة. ملحوظات: (1) أجب عن جمیع أسئلة ھذه الورقة.   

THE HASHEMITE KINGDOM OF JORDAN-MINISTRY OF EDUCATION
GENERAL ENGLISH
/ المستوى 3 الدورة الشتویة

(وثیقة محمیة/محدود)

Question Number One
Read the following text carefully, then in your ANSWER BOOKLET answer all
the questions that follow. Your answer should be based on the text.

The rainforest of the Amazon region of Brazil in South America covers five percent of
the world’s land surface and is home to at least 30 percent of the world’s animals and
plants. The area is also the home of 220,000 people from about 180 different tribes who
live deep in the forest. The rainforest itself is an important environment but, because of its
size and location, it also plays a vital part in controlling the world’s climate. It does this by
taking in carbon dioxide and releasing oxygen.
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1. Cutting down trees help to improve the economy of the region, but at the expense of the
future of the global environment Think of this statement and write down point of view in two
sentences.

2 According to the text, the writer thinks that Farmers use most of the new land to grow
Soya beans. Explain this justifying your answer.

Question Number Two (15 point)
A. Choose the suitable items from those given in the box to complete each of
the following sentences and write it down in your ANSWER BOOKLET. (8
point)

1. Unfortunately, computer crimes are often more difficult to …….……..than traditional
crimes.
2. The police made the drive pay a …………………for driving fast.
3. Deforestation have a ……………… effect on the native population.
4. The employer needs a …………….…... job to be sure about his future.

B. Study the following dictionary entry carefully and answer the question that

follows. Write the answer in your ANSWER BOOKLET. (3 point)
.rulerTutankhamun was a very famous Egyptian

What does the underlined word mean? ……………………………….

In the early. 19th century, the most important industry in Ireland was agriculture.
Find an adjective to the underlined word that have the opposite meaning. ………….

C. choose the answer from those given to complete each of the following
sentences and write it down in your ANSWER BOOKLET.( 4 point)

1- People believe that the worst crimes are murder and other ................. acts. (violence)
2- There would be a ............... situation in society if there were no legal systems. (chaos)

devastating ,  permanent  ,   solve ,  invisible  ,  fine

B. Critical Thinking
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Question Number Three (14 point)
A. Correct the verbs between brackets and Write the answer in your
ANSWER BOOKLET.

1.  How long ………….. you ………………………… for this company?. (be, work)
2. Sultan didn’t recognise his friend, Hani. He ……………. late the night before.(work)
3. This car is small. I wish I …………………….. a big one. (can, buy)
4. someone is ringing the doorbell. I am sur he is my father. He …………..my father. (be)

B. Combine each pair of sentences below into one meaningful sentence, using
the given words and phrases between brackets. Write the answers down in
your ANSWER BOOKLET. (6 points)

to ,     lead to,       because

1. Sultan went to the airport .He had to meet his brother Khaled

with the result that ,       because

2. The Amazon rainforest has an important effect on the climate of the world. It covers such a

large area.

Question Number Four (6 point)
A. Write sentences which explain the possibilities of the following statements
including the modal verb phrases in brackets in your answers. Write the
answers in your ANSWER BOOKLET.  (6 points)

Must be, might be ,
1. Someone’s ringing your doorbell. You’re sure it’s the postman – he always comes at this time.
He ………………………………………………………………………………………………………

2. There’s an important football match in your town tonight. You think the roads will  probably
be very busy. ………………………………………………………………………………………….

B. Study the following pair of sentences, and answer the questions below.
Write the answer in Your ANSWER BOOKLET.( 2point )

Ahmed: How about visiting Amman zoo this weekend
Muna: That’s great idea.
What is the function of Muna's sentence?

---------------------------------------------------------------------------------------------------
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Question Number Five (15 points)
A. EDDITING (3points )
Imagine you are an editor in the Jordan Times. You are asked to edit the
following lines that have four mistakes. Find out these four mistakes and
correct the mistakes and write the answers in your ANSWER BOOKLET.

The cutting down of trees to kultivate more land erodez (3) the
soil and it is ellegal because it leaves the land dry and desty .

B- GUIDED WRITING:
Read the information in the table below about ,and then in your  ANSWER
BOOKLET, write two sentences about What should we do to stop
desertification using the appropriate linking words such as: and  ,  but  , too
…………etc.

C. FREE WRITING: (7 points)
In your ANSWER BOOKLET, write a composition of about 80 words on ONE
of the following.

1. Nowadays global warming is the most critical issues in the twenty- first century
because of cutting down trees. Write an essay about the effects of cutting down
trees, describing the activities of deforestation.

2. Petra is on of the most important historical sites in Jordan. Write your own letter to a
friend, describing your visit and the place you have visited. (You're Name Jihad. Your
address is P.O. Box1664, Amman, Jordan)

3. Telecommunications plays a vital part in our life. Write an essay about the effects of
these in our life such as mobiles, computers with internet and others.

What should we do to stop desertification?
- Plant trees.
- Stop cutting trees.
- Educate people.
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THE HASHEMITE KINGDOM OF JORDAN-MINISTRY OF EDUCATION
GENERAL ENGLISH

3/ المستوى الصیفیةالدورة 
(وثیقة محمیة/محدود)

).5) صفحات و عدد الأسئلة (4) عدد صفحات ھذا الامتحان (3(

We usually think that greenhouse gases are harmful, but without these gases the climate
of the Earth would be like the climate of Mars: too cold for human beings to survive.
Greenhouse gases, which include carbon dioxide and methane, keep the heat of the sun
in and prevent our planet from freezing.

However, for the last 200 years people have been using enormous quantities of fossil fuels
like coal, gas and oil. When these fuels are burnt, they produce large amounts of carbon
dioxide and this keeps more of the sun’s heat in. The result is that the temperature of the
Earth is rising year by year. This is leading to more extreme weather: high winds and
heavy rain, which produce storms and flooding.

The problem is made worse by the fact that we are destroying the world’s rainforests.
Trees naturally consume carbon dioxide, but if there are fewer trees, more carbon dioxide
is released into the atmosphere.

Because of the increase in the Earth’s temperature, the ice at the north and south poles is
melting, and this is causing sea levels to rise. Eventually, many areas of land which are
now on the coast will be flooded. Leading scientists are warning that because the
authorities don't introduce new laws to reduce greenhouse gas increases now, the results
could be disastrous for life on Earth.

A:
1. Replace the underlined verb ‘reduce 'with a suitable three-part phrasal verb that has a
similar meaning to it.
2. The ice at the north and south poles is melting. Write down the reason.
3. Quote the sentence which indicates that” the problem started by destroying rainforest"
4. Carbon dioxide and methane keep our planet. Write down how.
5. What does the underlined word in the first paragraph” which” refer to?
6. People have been using enormous of fossil fuels. Write two of these fuels.
7. According to the text, the writer thinks that the authorities don't introduce new laws to
reduce greenhouse gas. Explain this, suggesting three laws reduce greenhouse gas.

Question Number One
Read the following text carefully, then in your ANSWER BOOKLET answer all
the questions that follow. Your answer should be based on the text.

DATE: 25 th  of June  2016 TIME: 1 HOUR AND A HALF
(2) للمتقدمین لجمیع الفروع الأكادیمیة. ملحوظات: (1) أجب عن جمیع أسئلة ھذه الورقة.   
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B. Critical Thinking:

Greenhouse gases can be good or bad. Think of this statement and, in two sentences,
write down your point of view

Question Number Two (15 point)
A. Choose the suitable items from those given in the box to complete each of
the following sentences and write it down in your ANSWER BOOKLET. (8
point)

governs, court, emigrate, fine, misuse

1. The driver paid a ………………….for driving fast.

2. If you……………………….. the equipment, it will not work properly

3. each country has a set of rules which ……………………all individuals.

4. The word …………..…………. means the place where a trail is held.

B. Study the following dictionary entry carefully and answer the question that
follows. Write the answer in your ANSWER BOOKLET. (3 point )

What does the three- part verb mean in the following sentence?
We have come up against serious problems in our plan to recycle rubbish.

1. it’s almost impossible to get a passport quickly. There is so much paperwork and
administration.
Replace the underlined phrases in these sentences with the correct form of the colour idioms.

C. Choose the answer from those given to complete each of the following
sentences and write it down in your ANSWER BOOKLET.( 4 point)
1- The ................................... success of the 1960s and 1970s was funded by oil.
(economy)
2- These workers were able to help with the ..................... of the region. (develop)



"  في المختصر المفیدالجدید"

7

7

Question Number Three    (14 point)
A. Correct the verbs between brackets and Write the answer in your ANSWER
BOOKLET.
1. There’s an important football match in your town tonight. It looks that the roads will be
very busy. The road ………………….. very busy. (be)
2. When Said finished the race, he …..………….. for 10 k.m. . (run)
3. Hatem ……………...…. his leg; He can't take part in the next match. (break)
4. I wish I …………………the keys of my office with me (have)

B. Combine each pair of sentences below into one meaningful sentence, using
the given words and phrases between brackets. Write the answers down in
your ANSWER BOOKLET. (6 points)

So that,   in order to,    because
1. The soil is destroyed the land. Can't be used for growing crops.

2. Some animals like the sand gazelle are under threat. People are destroying their habitat.

Question Number Four    (6 point)
A. Write sentences which explain the possibilities of the following statements
including the modal verb phrases in brackets in your answers. Write the
answers in your ANSWER BOOKLET.  (6 points)

must have, must be

1. I know it’s true that the world is getting warmer, because the polar ice is melting.
The polar ice ………………………………………………………………………………………….

2. Your sister has worked very hard. You feel sure that she has got good grades in her exams.
She………………………………………………………………………………………………….

B. Study the following pair of sentences, and answer the questions below.
Write the answer in Your ANSWER BOOKLET.( 2point )

Esra'. I have been teaching English since 1989.
Sami:    I have taught English for two years,
What is the function of Sami's sentence?
……………………………………………………
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Question Number Five (15 points)
A.EDDITING (3points)
Imagine you are an editor in the Jordan Times. You are asked to edit the
following lines that have four mistakes. Find out these four mistakes and
correct the mistakes and write the answers in your ANSWER BOOKLET.

Much of this destruction is illigal. Farmers use most of the new land to grow
soya beans, which they axport to other parts of the world. Soya beans are
also being turned into food for human consumbtion.

B- GUIDED WRITING
Read the information in the table below about ,and then in your  ANSWER
BOOKLET, write two sentences about advantages of internet using the
appropriate    linking words such as: and  ,  but  , too …………etc.

The advantages of E-learning
- save time
- get stuck in mind for a long time
- reduce travel time

C. FREE WRITING: (7 points)
In your ANSWER BOOKLET, write a composition of about 80 words on ONE of
the following.

1. Facebook is a social utility that connect people with friends and other who work,
study and live around them. Write an essay about Facebook and how people can
keep up with friends, mentioning advantages and disadvantages of Facebook.

2. Today about hundred thousands of people die every year because of the health
problem due to smoking, it has several harmful effects on the body. Write a letter to
your school magazine describing this problem, its causes and results and suggesting
advice to reduce it and to save the health. (You're Name Jihad. Your address is P.O.
Box1664, Amman, Jordan)



"  في المختصر المفیدالجدید"

9

9

)3نموذج رقم(

THE HASHEMITE KINGDOM OF JORDAN-MINISTRY OF EDUCATION
GENERAL ENGLISH

3/ المستوى الصیفیةالدورة 
حدود)(وثیقة محمیة/م

).5دد الأسئلة () صفحات و ع4) عدد صفحات ھذا الامتحان (3(
Question Number One
Read the following text carefully, then in your ANSWER BOOKLET answer all
the questions that follow. Your answer should be based on the text.

One of the most important issues in the twenty-first century is a scarcity of fresh water. A
lack of water presents major hurdles to human development. Aside from fulfilling our need
to drink, fresh water also plays a central role in agricultural production.

Water preservation is a major global challenge. Greater development and a perpetually
increasing population has led to unprecedented demands on all of our resources, which
has in turn led to an increased water shortage. This has prompted Jordan to support new
water conservation programmes, which improve the efficiency of irrigation systems in rural
areas. This includes empowering local cooperatives in the implementation of their
knowledge to help improve lives through the conservation of water.

Ultimately, we need to curtail the unwarranted consumption of water if we are to prevail
over the challenges facing Jordan today. Do you have any suggestions about how average
Jordanians can contribute to cutting down on water? Please let me know your ideas.

Question Number One (20 points)
A .
1. What has led to unprecedented demands on all of our resources? (4 points)

2. Quote the sentence which indicates that "fulfilling our need to drink is important"
(3 points)

3. Find in the text a phrase that means reduce. (2 points)

4. According to the text, the writer says that water is very important for our life to stay alive..
Explain this statement, suggesting three ways to reduce using fresh water.(3 points)

5. What does the underlined word" which" refer to? (2 points)

6. We need to curtail the unwarranted consumption of water. Write down the reason.
(4 points)

DATE: 25 th of June  2016 TIME: 1 HOUR AND A HALF
(2) للمتقدمین لجمیع الفروع الأكادیمیة. ملحوظات: (1) أجب عن جمیع أسئلة ھذه الورقة.   
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B. Critical Thinking:
Water is the most precious resource on earth. Think of this statement and, in two
sentences, write down your point of view

Question Number Two (15 point)
A. Choose the suitable items from those given in the box to complete each of
the following sentences and write it down in your ANSWER BOOKLET. (8
point)

1. The word …………………… means a period of great wealth.

2. The word …………………… means display or exhibition.

3. Burying paper in ……………..sites does more damage to the environment.

4. Trees used for making paper are grown in …………… forest, where new trees are panted.

B. Study the following dictionary entry carefully and answer the question that
follows. Write the answer in your ANSWER BOOKLET. (3 point)

What does the three-part verb mean in the following sentences?
Every year, engineers come up with new ways of saving water.2011

2. My father was born in 1944 during the Second World War.
The underlined number is written…………………………

C. Choose the answer from those given to complete each of the following
sentences and write it down in your ANSWER BOOKLET.( 4 point)

1. There would be a ……………. situation in society if there were no legal systems (chaos)

2. The ……………………… success of the 1960s and 1970s was funded by oil. (economy)

3. Acacia trees in hot African countries are protected by ants which live………………. on
their branches. (permanent)

show , sustainable, landfill, protect, success
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Question Number Three    (14 point)
A. Correct the verbs between brackets and Write the answer in your ANSWER
BOOKLET.
1. Noor looks sleepy now. She has …………….. tines all the day. (be, play)
2. Irish people emigrated because so many…………………... of starvation.(die)
3. I …………………… two days at Aqaba last year.(spend)
4. Maher ………………….law and arts at university for four years.(study)

B. Combine each pair of sentences below into one meaningful sentence, using
the given words and phrases between brackets. Write the answers down in
your ANSWER BOOKLET. (6 points)

So that, in order not to,   because

1. Shahed prepared herself for the party. She wanted to be a distinguished one.

So that,    with the result that

2. We should stop burning coal and oil. It can't cause more global warming.

Question Number Four (6 point)
A. Write sentences which explain the possibilities of the following statements
including the modal verb phrases in brackets in your answers. Write the
answers in your ANSWER BOOKLET.  (6 points)

can't have, must be

1. Your friend said she would phone you, but she hasn’t. You are sure she has not forgotten.
She.……………………………………………………………………………………………………

2. The phone is ringing – it’s probably your brother. He usually rings at this time.
It  …………………………………………………………..

B. Study the following pair of sentences, and answer the questions below.
Write the answer in Your ANSWER BOOKLET.( 2point )

Amra: I wish I could speak French.
Batool: I wish I would get up early.
What is the function of Btool's sentence?
………………………………………………………………………………………
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Question Number Five (15 points)
A.EDDITING (3points)
Imagine you are an editor in the Jordan Times. You are asked to edit the
following lines that have four mistakes. Find out these four mistakes and
correct the mistakes and write the answers in your ANSWER BOOKLET.

Because their routs, tranks, leaves, flowers, fruits and seedz are under
constant attack from mammals plants can ‘inject’ painful or irritating
substences into their enemies.

B- GUIDED WRITING
Read the information in the table below about ,and then in your  ANSWER
BOOKLET, write two sentences about the effects of cutting down trees using
the appropriate    linking words such as: and  ,  but  , too …………etc.

C. FREE WRITING: (7 points)
In your ANSWER BOOKLET, write a composition of about 80 words on ONE of
the following.

1. Desertification is one of the most important problems that is face hundreds of
countries all over the world, write an essay about the reason that causes
desertification and the suitable ways to prevent our country from its effects.

2. Most students in your country try to find a summer job while they are still students.
Write a letter to your friend about the advantages and disadvantages of these jobs
telling him the effects of these job on their career in the future. (You're Name Jihad.
Your address is P.O. Box1664, Amman, Jordan)

The effects of cutting down trees
- cause a healthy problems
- leave the soil dry or dusty
- destroy the world's climate
- reduce the Oxygen
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) 1(الاجابة
Question Number One
A
1. It does this by taking in carbon dioxide and releasing oxygen.
2. who are dependent in the rainforest for everything they need, from food and tools to
medicines and shelter.
3. These activities help to improve the economy of the region, but at the expense of the
future of the global environment.
4. global
5. native populations
6. rainforest
7. on
8.one hundred and eighty
B. Critical Thinking
I think that's right cutting down trees is  very usefull for our economic situation but can also
creat conditions such as dusty land and unproductive. Also, the climate will be changed
year after year

I totally agree with the writer, and there are many ways to keep our environment such as
stopping cutting down trees, and people who cut down trees should be punished. Also,
educating people how to be generous with their environment.
Question number Two
A. 1. Solve   2. Fine    3. Devastating    4. Permanent
B. 1.king 2. young.
C. 1. violent 2. Chaotic
Question Number Three
A. 1. Have/ been working 2. Had worked 3could buy 4.must be
B. 1. Sultan went to the airport to meet his brother Khaled
2. The Amazon rainforest has an important effect on the climate of the world because it covers

such a large area.

Question Number Four
A.1. the postman , he always comes at this time.2. might be very busy
B. 1. Agreement
Question Number Five
A.EDDITING
The, cultivate, erodes, illegal
B. GUIDED WRITING
There are many suggestions/ways/things should we do to stop desertification, such as
planting trees, punishing the people who cut down trees and stop cutting trees, too.
Another thing is educating people
C. FREE WRITING
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Question Number One
A.
1. cut down on
2. Because of the increase in the Earth’s temperature
3. The problem is made worse by the fact that we are destroying the world’s rainforests.
4. keep the heat of the sun in and prevent our planet from freezing.
5. Greenhouse gases
6. like coal, gas and oil.
7. I totally agree with the writer there are three ways to reduce greenhouses gas such as
putting new rules for the companies, stopping burning coal and oil and keeping the
rainforests.
B. Critical Thinking
I think that's right greenhouse gas is harmful to people and climate because it creates
conditions which effect on the climate of the earth, and although greenhouse gas is having
advantages such as keeping our Earth suitable to live
Question number Two
A fine, misuse, governs, court
B. 1 meet / face 2. Black and white

C.1. economic 2. development

Question Number Three
A 1. Might be, 2.had run, 3. has broken 4. had
B.1 The soil is destroyed the land so that it can't be used for growing crops.
2. Some animals like the sand gazelle are under threat because people are destroying their
habitat.

Question Number Four
A.1  must be milting because the word is getting warmer
2. must have got good grades in her exams

B. finished action
Question Number Five
A.EDDITING
illegal, export, Soya, consumption
B. GUIDED WRITING
There are many advantages of e-learning, because class work can be schedule and
saving time, too. Another thing is getting stuck in mind for a longtime and reducing travel
time.
C. FREE WRITING
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Question Number One
A1. Greater development and a perpetually increasing population
2. Aside from fulfilling our need to drink, fresh water also plays a central role in agricultural
production
3. cutting down on
4. observe unusual animals up close and learn about their behaviour.
5. new water conservation programmes
6. want to see animals that they cannot see in their own country.

B. Critical Thinking
I think that's right because most of living things depend on water and our planet without
water looks like a grave.

Question number Two
A. success, exotic, landfill, sustainable
B. find/ nineteen forty four
C. chaotic, economic permanently

Question Number Three
A been playing, had died, spent, has studied
B 1. Shahed prepared herself for the party because she wanted to be a distinguished one.
2. We should stop burning coal and oil so that it can't cause more global warming.

Question Number Four
A she can't have forgot
2. might be my brother, he usually rings at this time
B annoyance/ criticism

Question Number Five
A.EDDITING
roots, trunks, seeds, substances
B. GUIDED WRITING
There are many effects of cutting down trees, such as causing a healthy problems and
leaving the soil dry dusty, too. Another thing is destroying the world's climate./ also, cutting
down trees can destroy the world's climate.

C. FREE WRITING


